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Corrections for July 15, 2011
	Pg
	Error
	Correction

	89
	Chapter 3, Table 3-6 Campus Transmission Media Comparison

Row listed as  Distance, Column listed as Single-Mode Fiber

Reads:

Up to 80 km (FE)

Up to 100 m (GE)

Up to 80 km (10GE)
	Should read:

Single-Mode Fiber

Up to 100 km (FE)

Up to 5 km (GE)

Up to 40 km (10GE)


Corrections for June 23, 2011
	Pg
	Error
	Correction

	654
	Appendix A, Chapter 15,  Answer to Question 21

Reads:

21. A. RMON2 allows for Layer 4 monitoring. NetFlow is not a long-term trending solution.
	Should read:

21. B. RMON2 allows for Layer 4 monitoring. NetFlow is not a long-term trending solution.


Corrections for June 14, 2011

	Pg
	Error
	Correction

	550
	Chapter 14, Table 14-12, Fourth Column

Missing column header
	Should read:

Bandwidth with cRTP for MLP or FRF.12

	553
	Chapter 14, Second bullet point

Reads:

· Jitter buffer delay
	Should read:

· Jitter delay

	560
	Chapter 14, Table 14-14, line 2 under column QoS Scheme

Reads: 

LLC
	Should read:

LLQ

	565
	Chapter 14, Q&A, Question 3,

Reads:

3. True or false: An Erlang is a unit that describes the number of calls in an hour.
	Should read:

3. True or false: An Erlang is a unit that represents the continuous use of one voice path in one hour.


	565
	Chapter 14, Q&A, Question 14

Reads:

14. Which two queuing techniques use a strict priority queue for RTP traffic?
	Should read:

14. Which queuing technique uses a strict priority queue for RTP traffic?

	652
	Appendix A, Chapter 14, Q&A, Answer 44

Reads:

44. C. LLQ is recommended for most VoIP networks.
	Should read:

44. D. LLQ is recommended for most VoIP networks.

	652
	Appendix A, Chapter 14, Q&A, Answer 50
Reads:

50. The minimum bandwidth is approximately 640 kbps. Each call is 30 kbps times four, which equals 120 kbps. The exiting 512 kbps of data traffic equals 640 kbps. The circuit should be provisioned at a higher speed to prevent the sustained peak utilization from being higher than 70 percent.
	Should read:

50. The minimum bandwidth is approximately 640 kbps. Each call is 30 kbps times four, which equals 120 kbps. The exiting 512 kbps of data traffic equals 640 kbps. The circuit should be provisioned at a higher speed to prevent the sustained peak utilization from being higher than 75 percent.


Corrections for June 9, 2011
	Pg
	Error
	Correction

	483
	Chapter 13, Question 8

Reads:

8. When integrating security into the network, which of the following can be used?  (Select all that apply.)
	Should read:

When integrating security into the network DEVICES, which of the following can be used?  (Select all that apply.)


	511
	Chapter 13, Question 15

Reads:

15. True or false: Cisco ASAs, PIX security appliances, FWSM, and IOS firewall are part of infection containment.
	Should read:

True or false: Cisco ASAs, FWSM, and IOS firewall are part of infection containment.

	649
	Appendix A, Chapter 13, Q&A, Answer to Question 10

Reads:

10. A and B. Cisco Catalyst 6500 switches support FWSM and IDSM2 service modules.
	Should Read:

A , B and C. Cisco Catalyst 6500 switches support FWSM, IPsec VPN SPA and IDSM2 service modules.

	649
	Appendix A, Chapter 13, Q&A, Answer to Question 15

Reads:

15. True. Cisco ASAs, PIX security appliances, FWSM, and IOS firewall are part of infection containment.
	Should read:

15. True. Cisco ASAs, FWSM, and IOS firewall are part of infection containment.


Corrections for June 2, 2011
	Pg
	Error
	Correction

	266
	Chapter 8, Do You Know This Already Quiz, Question 6, Answer d

Reads:  

d.  150.10.192.0/23, 150.10.194.0/23, 150.10.196.0/23, 150.10.197.0/24, 150.10.198.0/24
	Should read:

d.  150.10.192.0/23, 150.10.194.0/23, 150.10.196.0/ 23, 150.10.199.0/24, 150.10.198.0/24


	313
	Chapter 9, Table 9-3 IPv6 Prefix Allocation, 

Sixth line down

Reads:

001 

1000::/4 

Unassigned
	Should read:

0001 

1000::/4 

Unassigned

	314
	Chapter 9, IPv6 Unicast Address

Reads:

■ Link-local address scope

■ Unique-local address scope

■ Global aggregatable address scope

■ IPv4-compatible IPv6 addresses
	Should read:

■ Global Unicast Address

■ Link-local address scope

■ Unique-local address scope

■ Global aggregatable address scope

■ IPv4-compatible IPv6 addresses

	315
	Chapter 9, Under Figure 9-2, Second paragraph, second sentence

Reads:

The leftmost 24 bits are 01:00:0C and the rightmost bits are 01:00:0C. 
	Should read:

The leftmost 24 bits are 01:00:0C and the rightmost bits are A4:BC:D0.

	420
	Chapter 11, under Figure 11-20, first paragraph, last sentence

Reads:

And EIGRP should not announce the routes it learned from OSPF on Router B back to EIGRP on Router A.
	Should read:

And EIGRP should not announce the routes it learned from OSPF on Router B back to OSPF on Router A.

	462
	Chapter 12, Table 12-9. Steps for Continuous Security, last line

Reads:

Assessments, vulnerability scanning, and security auditing 
	Should read:

Data analysis, reporting, and intelligent network security


	637
	Appendix A, Chapter 8, Do You Know This Already Answers, Question 1

Answer reads:

1. C. IPv4 private addresses are contained within 10.0.0.0/8, 172.16.0.0/12, and

192.168.0.0/16.
	Should read:

1. b. 172.31.16.1

	638
	Appendix A, Chapter 8, Do You Know This Already Answers, Question 6
Answer reads:

6. d. The summary route summarizes subnetworks from 150.10.192.0/24 to 150.10.198.0/24.  Answer d is the only answer that includes them.
	Should read:
6. d. The summary route summarizes subnetworks from 150.10.192.0/24 to 150.10.199.0/24.  Answer d is the only answer that includes them.

	643
	Appendix A, Chapter 10, Q&A, Answer to 38, A

Reads:

38.   A. Route 2 has a higher cost than Route 1. The Route 2 cost is 108/128 kbps = 781.25. The Route 1 cost is 108/512 kbps + 108/384 kbps + 108/512 kbps = 195.31 + 260.41 + 195.31 = 651.03. Route 1 is preferred.
	Should read:

38.  A. Route 2 has a higher cost than Route 1. The Route 2 cost is 108/128 kbps = 781.25. The Route 1 cost is 108/512 kbps + 108/384 kbps + 108/512 kbps = 195.31 + 260.41 + 195.31 = 651.03. Route 1 is preferred.

	645
	Appendix A, Chapter 11, Q&A, answer to Question 28, F
Reads:

F. RIPv1 does not support VLSMs.
	Answer to question 28 Should read:

A. RIPv1


	645
	Appendix A, Chapter 11, Q&A, answer to Question 33, B

Reads:

33.  B. From Router A, the OSPF cost for Path 1 is 108 / 256 kbps = 390. The OSPF cost for Path 2 is (108 / 1536 kbps) + (108 / 1024 kbps) + (108 / 768 kbps) = 65 + 97 + 130 = 292. OSPF selects Path 2 because it has a lower cost.
	Should read:

33.   B. From Router A, the OSPF cost for Path 1 is 108 / 256 kbps = 390. The OSPF cost for Path 2 is (108 / 1536 kbps) + (108 / 1024 kbps) + (108 / 768 kbps) = 65 + 97 + 130 = 292. OSPF selects Path 2 because it has a lower cost.
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